0002190189087999

o0 LEXY 66—

2016 4F 3R 2 1 [

l [aziEDE#HE L, HBEFIEIZBWT,

MC :22+y2=1, BWMCy:y=ax®+1

2E25. C t@ﬁp(i}, —%

)¢:;¥3c7‘%’> C1 DB LITAQ(s, 1) TColZHL TWB., KOMWIZEZ &.

() s, tBLTazkdL.

(2) Co, LIV yhTHENAERSOEMZ R &.

(3) HC, LML PS5 MRO0, 1) FTKIFFHHDIZENTTEEMME C3&9 5. Cy, £ELTUCsT
FENA SO BEE KD L.

(1 g: ‘\gx-

{ .
M S QERizedY, {35-1t=2 0@
Ir.EQuECt0bdY, T=as’+1 @
Colrdnt, Y'=2ax &Y QonBFeFize 0y, 2a5=43 0

LR

@@ £4UALT. T= S5+l @
O.@LY. S=2{3, T=4 @IKSEILALT, a:4_f \
(2)7'&01!;'}
N

5= I 4x+1~rx 2) dx

=X _ B, 1P
12 '?I 31]

243 = 643 +643

"

=2,
(s)sﬁ'm@*’é‘zlm'u. T =S ~F%00R - BA = AH 0AP
A(0.~2) PICH 120°  0A=2.0P=1,AP=43
5T T=23 -7 5 -4 143 W\Lh * 7
- _B_ZE_ % .7A

’




